whole tone scale triade
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on G. T ) (o) \a\{
| P # P | - Qo | #A
| HZO = ] S N O = #/O
| P T < IO = X e I & =/
R i I —
start with a pormal whole +one scale. e il | 68D add the accidentals krom our
i " | : .
ours is GA BC# Dt FG. e 5'”+ "W’ = 'W_ el e EGB seales cvpss out the +riads with
poss‘b!e)rrmahmgﬁA CEG o e it s Shie. oo le ) ol
those +hat aren’t Augmented.
46 ; : 1 . 7 | M ] R0 |
b all_pnotes exist nw scale | £ v v | F//®) #0 tviad V. 1
a ; P | G A B CFk DF ¥ G | o + it < o |
ik teiod 1S Augmewfco\ v ] ) o 0 Ruﬁmemhd v [
now we have one of our gind the letter names that arrange those letters
two +riads: GBD#. don't have a triad yet. ““+'lo\ gou get an Aug:
‘ G triad . 40
for this example, thats A, C#,“F,%g 40
0 i Steiad B 1 4 ~ & P bl N o bt Tips and tricks -
v = #0 O = F. o I AN At !
A 1) | = [#] S5 « friads  will _always go ABABAB [A)
v Osw_xnxviad B | e - s
S . i R .
o et we have T LT TTRCTRET R A 3 AT e e pared (35§ 4, et
both ok ouv triads,
wWe can use them 4o Yoo

» this works whethe,~ gyou use sharps

or klﬂ\"'s [ your scale.

PRACTICAL SoLUTIONS 1

| HOW THIS WORKS (MATH)

0 you assign numbers 45 all of the ke(ds on a ‘o)‘ano,%ou can do wmost ok Hais with simFle(\‘sla) mwath.
al we veally need s one octave's wor+h ok numbering.

: B
= vaci [ GEZ AP A LY WA AT =
E E 7 = PAZ>) O #07 e b
c cA /7 Db P Dﬂ/(;.jv Py D HO 7 °< =4 it
-G o /O = a2y ? ) 7 3 a lo i 12
1 2 3 4

so viow we have an octave numbered 41 4o 12. between each ome ts a l"“‘b Step.

since it’s

Y R 1
a  wWhole Tone

A 4 1 ya i 2
Scale we've z{z}o[m% to be using evevy other pnumnmber [wholée 5"‘6\‘05

Y.

SO we coln take ouvr nuwiveved ['stT and rewove evevy other nuwmber,

L 2 Xos K3 Xa X u ., +his s our whole Yone scale cx\oressed as nuwbers:
leack v

(BCEISNE
WHOLE
STEP

TWO WHOLE STEPS

EE T a ai,

i 1 1 I n n I (1 = P
S’far‘hnau With oy i Per isnul can_colnt put A Trigd ol‘(] notes with twp whol€ sfe:os betweeh thewn

(2R PRgmented trady. Ty Yot veach Hhe end you_con ioo\\o avound [like oase” WIaHA
1X3XS5 B+ Xa % u ¥ B @ AU N
ex: 1
ex. 2
iow ‘-5 %ou've aiv‘cadvj \sauvxa\ one Atriad }A&V'€7 the other (s o1l +he remaih(ng num bes -
A S S W Y A Feiad 1153 Friad 5 2 3 3T,

two distinet sepavate triads

this number substitution eX\olqms why +here have +o be

f 50" us 4o bflf\d. but what
abou \oevmuﬁa\'\ovxs?
in_one set/fyviad we Wave 3.5 ond q. we can make Three Fripds: 164 —sa41, o 9 (6,
Savng WwWith the othev tviad: 3,3 0. our {ooss{b(e i\ou*vvxm‘i'ahoms' are: 3 3 U F s a3 T
which op the

ermutations is covrect for awy given QKQMPle depends on whether you use

s\narFs ov b\m‘s (ana, conSeoLueV\’Htélwtn(c(n note you "s\dr:“). +the %ood news is you have
onlql +WC,£. options fov each or 4he two triads, and elimination by wote name o

Tviaod a&a(i‘f'

f Il "
Y SWhould @-ve Y4ou the covvecT answer.

A

Wl"'g an Augment ed +riad? because in a whole fone ccale  we've eliminated all of the hal - steps.

all we have legt s whole steps- o major, minor, ov diminished dviad all! yeed ‘at [east one wnivior 379,
since You cant buld & vwwinor thivd put of whole S*C‘axl but you can \ou\ihﬂ a Major 2rd
o 2

e only_triad DF‘]’{oh we have iebf S an Augwented Friad




